

Tele. 021-35865392

Assistant Director Assessment SPPRA, Karachi

No. SMTC/TMTD/SIGNALS/2017/15 **GOVERNMENT OF SINDH** TRANSPORT & MASS TRANSIT DEPARTMENT

Dated 21-12-2017



Subject:

REQUEST FOR QUALIFICATION FOR THE WORK OF/GRADATION/INSTALLAION OF TRAFFIC SIGNALS IN KARACHI HYDERABAD, SUKKUR, MIRPURKHAS, NAWABSHAH

AND LARKANA

I am directed to refer to your letter No AD(A)/SPPRA/(32896/TMTD) 2016-17/1733, dated 22nd November, 2017, in this regard our response regarding your concern is as under.

S. No	Query	Response
1	The Procuring Agency (PA) has not furnished response of this authorities letter dated 08.06.2017 (copy enclosed).	The Procuring Agency shall furnish the Annual Procurement Plan at the earliest in compliance of the SPPRA regulations.
2	P.A has issued/published RFQ for this procurement and P.A has mentioned "Stage Single Envelop" method of procurement mentioned in Bid evaluation report (BER) and also mentioned date of opening technical and financial in BER which is confusion according to nature of procurement.PA may clarify.	The procuring agency has carried out a prequalification process before inviting financial bids from the pre-qualified bidders. The same is also mentioned in the Bid Evaluation Report. However, the method of procurement is "Prequalification of Suppliers & Contractors" as per Rule 27 [Page 46] of SPPRA. The same has been corrected in the BER with the initials of Director Infrastructure, SMTA.
22-12-17	Clarification required regarding PA has constituted the CSC or PC for this procurement as per requirement/RFQ, Notification of procurement committees required. PA has furnished Notification of Consultant Selection Committee (CSC) as per rule-67 vide letter dated 05-08-2017 along with evaluation report.	A procurement committee has been constituted as per SPPRA rule No 7, however it had been mistakenly written as rule 67 in notification, please consider this as a procurement committee notification instead of CSC.
40	PA has used request for proposal	Procuring Agency has used Request for

SPPRA INWARD DI. RY G-SHOL

5	(RFP) term at various places of documents, which creates confusion and need clarification.	Qualification (RFQ) during the procurement process. No RFP has been invited during the procurement.
5	APP was required to be hoisted in advance as per requirement of Rule-12 (2) but APP has not received as yet.	The Annual Procurement Plan shall be furnished at the earliest in compliance of the SPPRA Rule – 12(2).
6	Opening date mentioned in Request for Qualification (RFQ) notice as 12.05.17 whereas minutes of prequalification meeting shows schedule of opening as 24.07.2017.	Procuring Agency has opened the Request for qualification (RFQ)/pre-qualification documents on 12-05-2017, however after detailed evaluation of pre-qualification documents, a procurement committee meeting was held on 24 th July 2017 for the issuance of pre-qualification notices and subsequently minutes of meeting was uploaded by the SPPRA accordingly.
7	Prequalification Report, BER and other documents are signed by DSP, Traffic Police on the behalf of DIG P. In that case the notify member that is DIG Police shall also Sign the BER and other documents as per requirement of SPPRA instruction circulated vide letter dated 03.04.2013 (also available on SPPRA website).	In compliance, Bid Evaluation Report (BER) has now been signed by the DIG (traffic police).

We are thankful for your concerns and understand that they are in the best Interest of our department, we assure our full cooperation and compliance of SPPRA rules in our current and up-coming projects. Enclosed with this letter are BER and relevant documents for your record and hoisting at the SPPRA website.

Encl:
1) Rectified BER & Comparating Hotal
2) Meeting Minutes Stattement 16 pages
3) Attendance Sheets:

Kashif Ali Khan
Deputy Director (Contract /Procurement)
(SMTC), GoS

Copy to:

- 1) P.S to Secretary, Transport and Mass Transit Department
- 2) P.S to DG SMTC, Transport and Mass Transit Department



SINDH MASS TRANSIT CELL (SMTC), TRANSPORT & MASS TRANSIT DEPARTMENT, GOVERNMENT OF SINDH

DATED: 25-09-2017

(RULE 27)

BID EVALUATION REPORT

1. Name of Procuring Agency

: SMTC (Transport and Mass Transit Department), GoS

2. Tender Reference/Sr. No

3. Tender Description/Name of Work

Installation/up-gradation of Traffic Signals work in

Karachi, Larkana, Sukkar, Mirpurkhas

PREQUALIFICATION OF SUPPLIERS & CONTRACTORS Single Stage - Single Envelop

4. Method of Procurement

5. Tender Published

Electronic Media as SPPRA dated 25-08-2017

6. Total Bids Documents Sold

02 Nos

7. Total Bids Received

01 No

8. Pre-qualification opening date

12-05-2017

9. No. of Bid Technically Qualified

02 No

10. Bid(s) Rejected at pre-qualified stage

01 No

11. Financial Bid Opening Date

11 September 2017

12. Technical Evaluation/prequalified

02 proposals were qualified on the basis of evaluation criteria

by the Procurement Committee

S.NO	Name of firm or Bidder	Cost offered by the bidder (As calculated)	Engineering Estimate of the Work	Comparison with estimate cost	Reason for acceptance / Rejection	Remarks
0	1	2	3	4	5	6
1	Silicon Communication & Security JV Ghause Builders	161.164 Million	143.22 Million	Bid is 12.5% Above than the Estimated Cost (s)	Qualified as per Eligibility Criteria	Only 1 firm has submitted the financial proposal which is evaluated by the procurement committee.

Qazi Abdul Qadir Senior Director, TEB Muhammad Tahir

DSP Traffic Police (on behalf of

Abdul Aziz,

Director Bus Ops & ITS, SMTC

DIG Traffic Police)

Qasim Dada Director Finance & Administration, SMTC

Yousuf Munir

Director Infrastructure, SMTC

Kashif Ali Khan

Deputy Director (Contracts &

Procurement, SMTC

Muhammad Athar Director General, SMTC



GOVERNMENT OF SINDH TRANSPORT & MASS TRANSIT DEPARTMENT

COMPARATIVE STATEMENT

25-09-2017

S.NO	Firm Name	Bid Amount	Estimated Amount	Remarks
1	M/S Silicon Communication and Security JV Ghause Builders	Rs 161.164 (Million)	143.22 (Million)	Bid amount is 12.5% more than estimated amount

After detailed evaluation of bid, it has been noted that no Error/discrepancy was found in the Bid.

³ Qazi Abdul Qadir Senior Director, TEB Mohammad Tahir

DSP, Traffic Police On Behalf

Of DIG Traffic Police

Abdul Aziz

Director Bus Ops & ITS, SMTC

Qasim Dada

Director Finance & Administration,

SMTC

Yousuf Munir

Director Infrastructure,

SMTC

Kashif Ali Khan

Deputy Director,

Contract/Procurement, SMTC

Muhammad Athar Director General, SMTC

Financial Review/Comparison Of Engineer Estimate And Bid Amount For New Traffic Signals to be Installed at Karachi, Sukkur, Larkana, Mirpurkhas

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Estimate Rate	Engineer Estimate Amount	Difference Amount	%	Remarks
1	PROVIDING FIXING & COMMISSIONING OF MCE 0141 MICROPROCESSOR BASED SILICON TRM 200 SERIES OR EQUVILENT TRAFFIC SIGNAL CONTROLLER WITH 16 PHASE SWITCHES FITTED CUSTOMIZED INCLUDING CONTROLLER CASE,CONTROLLER PLINTH.	17	Nos	200,000	3,400,000	200,000	3,400,000			
2	INSTALLATION OF T-400 OR ST-800 CONTROLLER 16 OR 8 PHASE INCLUDING COMMISSIONING & TESTING WITH RE-BLOWING OF EPROM.	11	Nos	8,000	88,000	12,000	132,000	-44000	-33,33	saving
3	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO 3 WAY OR EQUIVALENT TRAFFIC LIGHT ASPECT ASSEMBLY (RED + AMBER + GREEN) 200 MM DIAMETER AND HOOD COMPLETE HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN.	245	Nos	45,000	11,025,000	39,200	9,604,000	1,421,000	14.80	Excess
4	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO 3 WAY OR EQUIVALENT TRAFFIC LIGHT ASPECT ASSEMBLY (RED + AMBER + GREEN) 300 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN. PROVIDING FIXING	95	Nos	55,000	5,225,000	49,000	4,655,000	570,000	12.24	Excess
5	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUIVALENT IMPORTED 2 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED + GREEN) 200 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN. PROVIDING FIXING	148	Nos	29,000	4,292,000	26,500	3,922,000	370,000	9.43	Excess
6	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUIVALENT IMPORTED 1 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED + GREEN) 200 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING DUAL COLOUR (RED & GREEN) IN ACCORDANCE WITH SPECIFICATION GIVEN. PROVIDING FIXING	64	Nos	17,000	1,088,000	15,000	960,000	128,000	13.33	Excess
7	INSTALLATION OF STANDARD POLE 12 FT ASSEMBLY WITH ALL NECESSARY FITTING POLE CAP ETC. COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.	72	Nos	1,150	82,800	1,000	72,000	10,800	15.00	Excess
8	INSTALLATION OF MAST ARM POLE ASSEMBLY WITH ALL NECESSARY FITTING , POLE CAP ETC. COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.PROVIDING FIXING	35	Nos	9000	315,000	16,500	577,500	-262500	-45.45	Saving

Jan. 12.17

N W

W DX

All I

De The

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Estimate Rate	Engineer Estimate Amount	Difference Amount	%	Remarks
9	PROVIDING & FIXING OF STANDARD POLE 12 FT ASSEMBLY WITH ALL NECESSARY FITTING POLE CAP ETC. COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.	98	Nos	16000	1,568,000	20000	1,960,000	-392000	-20	Saving
10	PROVIDING & FIXING CANTILEVER POLE ASSEMBLY WITH ALL NECESSARY FIYYING, POLE CAP ETC, COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.	60	Nos	45000	2,700,000	70000	4,200,000	-1500000	-35.71	Saving
11	PROVIDING ELECTRICAL CABLE (12 CORE 1.5 MM SQ. SOLID "CU" CONDUCTOR, PVC INSULATED, PVC BEDDED / PVC SHEATHED) INCLUDING LYING IN DUCT STRIP BACK TERMINATE AND LABEL ALL CORES INCLUDING TESTING COMMISSIONING CHARGES.	5600	METER	650	3,640,000	590	3,304,000	336000	10.17	Excess
12	PROVIDING & FIXING OF INCOMING KESC POWER SUPPLY METALLIC SWITCH BOARD OF SUITABLE SIZE AND STURDY DESIGN WATER / WEATHER PROOF HAVING LOCK & KEY ARRANGEMENT AND EQUIPMENT WITH FOLLOWING. 1) CIRCUIT BREAKER SINGLE PHASE. 2) VOLTMETER, SINGLE PHASE (IMPORTED) APPROVED MAKE AND SIZE. 3) INDICATION LAMP.	28	Nos	9650	270,200	8500	238,000	32200	13.53	Excess
13	PREPARATION OF INTERSECTION SPECIFICATION (IS) OF THE INDIVIDUAL INTERSECTION SITES BY CARRYING OUT TRAFFIC SURVEY (FOR PEAK HOURS) PLANING, SUPERVISION AND COLLECTION OF DATA, ANALYSIS AND RESULT FOR CUSTOMIZED THE TRAFFIC CONTROLLERS CLS PLANS AS WELL AS PHASE / STAGE TIMING FOR EACH JUNCTION SHALL BE PREPARED AND PROVIDED TO THE ENGINEER FOR APPROVAL IN DUPLICATE BOUNDED FORM INCLUDING TIMIMNG OF CONTROLLER UP DATING OF TIME PLANS	3	Nos	30000	90,000	85000	255,000	-165000	-64.71	Saving
14	SUPPLY AND LAYING ONE NUMBER POLY VINYL CHLORIDE PIPE (PVC) "D" CLASS UNDER FOOTWAY FROM DRAWPIT TO SIGNAL POLE IN ACCORDANCE WITH SPECIFICATION AND DRAWING INCLUDING COST OF SPECIAL, CUTTING FITTING, LAYING ON PIPE IN TRENCH, SAND CUSHIONING, BACK FILLING, PROVIDING AND LAYING DRAW WIRE IN DUCT AND PROPER ARRANGEMENT OF LIGHT AND SAFETY DEVICES ETC. DISPOSAL OF SURPLUS EXCAVATED MATERIAL WITH 5 MILES LEAD AND COMPLETE WITH ALL RESPECT AS DIRECTED BY THE ENGINEER.	700	METER	747	522,900	650	455,000	67900	14.92	Excess
15	CONSTRUCTION OF STANDARD POLE FOUNDATION AS PER DRAWING	170	Nos	7400	1,258,000	6500	1,105,000	153000	13.85	Excess
16	CONSTRUCTION OF MAST ARM POLE FOUNDATION AS PER DRAWING	95	Nos	15000	1,425,000	16500	1,567,500	-142500	-9.09	Saving

- 2000 V

My Among

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Estimate Rate	Engineer Estimate Amount	Difference Amount	%	Remarks
17	SUPPLY AND LAYING ONE NUMBER BEST QUALITY 4" DIA G.I.PIPE IN DUCT UNDER ROAD CARRIAGEWAY FOOTWAY AS PER DRAWING / DESIGN INCLUDING BREAKING THROUGH SURFACE EXCAVATION UPTO MINIMUM DEPTH 1"-8" UNDER ROAD WAY AND 2"-8" FOOTWAY OR AS REQUIRED, PROVIDING SAND, STONE BALLAST FOR BACKFILLING COMPACTION, REINSTATEMENT OF ROAD OR FOOTWAY SURFACE AS PER SPECIFICATION AND APPROVAL OF THE ENGINEER INCLUDING CUTTING MAKING THREAD OF PIPE SPECIAL AS REQUIRED, LAYING OF PIPE PAINTING TWO COAT OF BITUMINOUS PAINT ON G.I.PIPE PROVIDING AND PLACING OF DRAW WIRE IN DUCT AND PROPER ARRANGEMENT OF LIGHT, TRAFFIC BARRIERS SAFETY DEVICES FOR PROTECTION OF TRAFFICAND DISPOSAL OF SURPLUS EXCAVATED MATERIAL WITHIN THREE MILES LEAD AND COMPLETE WITH ALL RESPECT AS DIRECTED BY THE ENGINEER.	2416	METER	3450	8,335,200	3000	7,248,000.00	1,087,200	15	Excess
18	PROVIDING CHAMBER 3"-0. 3"-0 2"-8" (MINIMUM DEPTH) AS PER APPROVED DESIGN FOR CABLE. DUCT DRAW CHAMBER AS SHOWN ON DRAWING AND PROVIDING RCC 1:2:4 COVER IN %" 3" * 3" MS ANGLE OF 30" OF SIZE AND % THICK 3.25" * 3.25" MS ANGLE FRAME FIXED IN 1:2:4 CC WALL AND MAKING PROPER HOLES FOR DUCTING OF ALL SIZES IN WALLS INCLUDING EXCAVATED, BACKFILLING CC 1:2:4 BASE, WALL, SLAB CHAIN, CHAIN FIXING IN WALL AND SLAB, COMPLETE WITH ALL RESPECT AS DRAWING AND AS DIRECTED BY THE ENGINEER.	192	Nos	8600	1,651,200	7500	1,440,000.00	211,200	14.67	Excess
19	PROVIDING & LAYING POWER CABLE 3 CORE 6MM	640	METER	550	352,000	480	307,200.00	44,800	14.58	Excess
20	PROVIDING & FIXING OF SILICON CD50 3 DIGIT DUAL COLOUR COUNTDOWN TIMER	101	Nos	35,000	3,535,000	34,000	3,434,000.00	101,000	2.94	Excess
21	LANE DEVICE AND MODEM	11	Nos	50,000	550,000	45,000	495,000.00	55,000	11.11	Excess
22	NET DEVICE WITH 12 MONTHS MONTHLY RENT	11	Nos	50,000	550,000	44,000	484,000.00	66,000	13.64	Excess
23	FISH EYE CAMERA	11	Nos	120,000	1,320,000	105,000	1,155,000.00	165,000	14.286	Excess
24	RG 45 CABLE FOR CAMERA	550	METER	115	63,250	100	55,000.00	8,250	15	Excess
	Total				53,346,550		51,025,200	2,321,350	4.55	Excess

DX# Di Dallo

Financial Review Of Engineer Estimate And Bid Amount For up-gradation of Traffic Signals to be Installed at Karachi, Sukkur, Larkana, Mirpurkhas

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Etimate Rate	Engineer Estimate Amount	Difference Amount	Difference (%)	Remarks
1	MONITORING ROOM PC-I3, 4.NOS, SERVER CORE I7, 01 .NO LED SCREEN 48 INCH 05 NOS. FURNITURE AND FIXTURES WITH GIE MAP.	1	JOB	5,700,000	5,700,000	5,000,000	5,000,000	700,000	14.00	Excess
2	PROVIDING FIXING & COMMISSIONING OF MCE 0141 MICROPROCESSOR BASED SIEMENS ST-950 SERIES OR EQUVELENT TRAFFIC SIGNAL CONTROLLER WITH 16 PHASE SWITCHES FITTED CUSTOMIZED INCLUDING SCOOT INTERFACE ENABLE ,CONTROLLER CASE ,CONTROLLER PLINTH.	19	NOS	1,800,000	34,200,000	1,500,000	28,500,000	5,700,000	20.00	Excess
3	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUVELENT 3 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED + AMBER + GREEN) 200 MM DIAMETER AND HOOD COMPLETE HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN.	9	NOS	45,000	405,000	39,200	352,800	52,200	14.80	Excess
4	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUVELENT 3 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED + AMBER + GREEN) 300 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN.	3	NOS	55,000	165,000	49,000	147,000	18,000	12.24	Excess
5	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUVELENT IMPORTED 2 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED + GREEN) 200 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN.	8	NOS	29,000	232,000	26,500	212,000	20,000	9.43	Excess
6	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUVELENT IMPORTED 1 WAY TRAFFIC LIGHT ASPECT ASSEMBLY (RED) 200 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION CATCH INCLUDING LED IN ACCORDANCE WITH SPECIFICATION GIVEN	2	NOS	17,000	34,000	15,000	30,000	4,000	13.33	Excess
7	PROVIDING ELECTRICAL CABLE (12 CORE 1.5 MM SQ. SOLID "CU" CONDUCTOR, PVC INSULATED, PVC BEDDED / PVC SHEATHEB) INCLUDING LYING IN DUCT STRIP BACK TERMINATE AND LABEL ALL CORES INCLUDING TESTING COMMISSIONING ICHARGES.	1610	METER	650	1,046,500	590	949,900	96,600	10.17	Excess

Dud S

grania.18

14

(P)

Q.leo

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Etimate Rate	Engineer Estimate amount	Difference Amount	%	Remarks
8	PROVIDING & FIXING OF INCOMING KESC POWER SUPPLY METALLIC SWITCH BOARD OF SUITABLE SIZE AND STURDY DESIGN WATER / WEATHER PROOF HAVING LOCK & KEY ARRANGEMENT AND EQUIPMENT WITH FOLLOWING. 1) CIRCUIT BREAKER SINGLE PHASE. 2) VOLTMETER, SINGLE PHASE (IMPORTED) APPROVED MAKE AND SIZE. 3) INDICATION LAMP.	1	NO	9650	9,650	8,500	8,500	1,150	13.53	Excess
9	SUPPLY AND LAYING ONE NUMBER BEST QUALITY 4" DIA G.I. PIPE IN DUCT UNDER ROAD CARRIAGEWAY FOOTWAY AS PER DRAWING / DESIGN INCLUDING BREAKING THROUGH SURFACE EXCAVATION UPTO MINIMUM DEPTH 1"-8" UNDER ROAD WAY AND 2"-8" FOOTWAY OR AS REQUIRED, PROVIDING SAND, STONE BALLAST FOR BACKFILLING COMPACTION, REINSTATEMENT OF ROAD OR FOOTWAY SURFACE AS PER SPECIFICATION AND APPROVAL OF THE ENGINEER INCLUDING CUTTING MAKING THREAD OF PIPE SPECIAL AS REQUIRED,	510	METER	3450	1,759,500	3,000	1,530,000	229,500	15.00	Excess
10	SUPPLY AND LAYING ONE NUMBER POLY VINYL CHLORIDE PIPE (PVC) "D" CLASS UNDER FOOTWAY FROM DRAWPIT TO SIGNAL POLE IN ACCORDANCE WITH SPECIFICATION AND DRAWING INCLUDING COST OF SPECIAL, CUTTING FITTING, LAYING ON PIPE IN TRENCH, SAND CUSHIONING, BACK FILLING, PROVIDING AND LAYING DRAW WIRE IN DUCT AND PROPER ARRANGEMENT OF LIGHT AND SAFETY DEVICES ETC. DISPOSAL OF SURPLUS EXCAVATED MATERIAL WITH 5 MILES LEAD AND COMPLETE WITH ALL RESPECT AS DIRECTED BY THE ENGINEER.	465	METER	747	347,355	650	302,250	45,105	14.92	Excess
11	INSTALLATION OF STANDARD POLE 12 FT ASSEMBLY WITH ALL NECESSARY FITTING POLE CAP ETC. COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.	6	NOS	1150	6,900	1,000	6,000	900	15.00	Excess
12	INSTALLATION OF MAST ARM POLE ASSEMBLY WITH ALL NECESSARY FITTING , POLE CAP ETC. COMPLETE INCLUDING PAINTING TWO COATS WITH SYNTHETIC ENAMEL PAINT AS PER DRAWING.PROVIDING FIXING	3	NOS	9000	27,000	16,500	49,500	(22,500)	-45.45	Saving

- Pod

So Het as The

Item No	Despriction	Qty	Unit	Bid Rate	Bid Amount	Engineer Etimate Rate	Engineer Estimate amount	Difference Amount	%	Remarks
13	CONSTRUCTION OF STANDARD POLE FOUNDATION AS PER DRAWING	6	NOS	7400	44,400	6,500	39,000	5,400	13.85	Excess
14	CONSTRUCTION OF MAST ARM POLE FOUNDATION AS PER DRAWING	3	NOS	15000	45,000	16,500	49,500	-4500	-9.09	saving
15	PROVIDING CHAMBER 3"-0. 3"-0 2"-8" (MINIMUM DEPTH) AS PER APPROVED DESIGN FOR CABLE. DUCT DRAW CHAMBER AS SHOWN ON DRAWING AND PROVIDING RCC 1:2:4 COVER IN %" 3" * 3" MS ANGLE OF 30" OF SIZE AND % THICK 3.25" * 3.25" MS ANGLE FRAME FIXED IN 1:2:4 CC WALL AND MAKING PROPER HOLES FOR DUCTING OF ALL SIZES IN WALLS INCLUDING EXCAVATED, BACKFILLING CC 1:2:4 BASE, WALL, SLAB CHAIN, CHAIN FIXING IN WALL AND SLAB, COMPLETE WITH ALL RESPECT AS DRAWING AND AS DIRECTED BY THE ENGINEER.	30	NOS	8600	258,000	7,500	225,000	33,000	14.67	Excess
16	PROVIDING & LAYING POWER CABLE 3 CORE 6MM	380	METER	550	209,000	480	182,400	26,600	14.58	Excess
17	DUAL COLOUR (RED+GREEN) COUNT DOWN TIMER 300 MM SIZE WITH TIMER CONTROLLER CABLE ETC.COMPLETE	75	NOS	35000	2,625,000	34,000	2,550,000	75,000	2.94	Excess
18	LANE DEVICE AND MODEM	19	NOS	50000	950,000	45,000	855,000	95,000	11.11	Excess
19	NET DEVICE WITH 12 MONTHS MONTHLY RENT	19	NOS	50000	950,000	44,000	836,000	114,000	13.64	Excess
20	FISH EYE CAMERA	19	NOS	120000	2,280,000	105,000	1,995,000	285,000	14.29	Excess
21	RG 45 CABLE FOR CAMERA	950	METER	115	109,250	100	95,000	14,250	15	Excess
22	PROVIDING & FIXING OF CONTROLLERS FOR TIDAL FLOW SYSTEM WITH GPS CLOCK TO BE SYNCHRONIZED IN TIME TO OPERATE THE LANE CONTROL LIGHTS.	5	NOS	350000	1,750,000	550,000	2,750,000	-1000000	-36.36	Saving
23	PROVIDING & FIXING OF SIEMENS TURKISH/ SWARCO OR EQUIVALENT 1 WAY TRAFFIC LIGHT ASPECT ASSEMBLY WITH TWO WAY ARROW CROSS LED MODULE (RED + GREEN) 300 MM DIAMETER AND HOOD COMPLETE. HOUSING & COVER MADE UV-STABILIZED POLYCARBONATE, COVER WITH SNAP ACTION	110	NOS	18000	1,980,000	20,300	2,233,000	-253000	-11.33	Saving
24	PROVIDING & FIXING OF LED TRAFFIC LIGHT MODULE WITH DUAL LANCE CENTRAL LIGHT SOURCE SYSTEM WITH NO LED DOTS VISIBLE, VERY UNIFORM SIGNAL GLOW-CENTRAL LIGHT SOURCE	492	NOS	12000	5,904,000	9,000	4,428,000	1,476,000	33.33	Excess
	Total				61,037,555		53,325,850.00	7,711,705.00	14.46	Excess

Schedule Rate / BOQ Of Civil work of Signal Work At Karachi, Larkana, Sukkur and Mirpur Khas

Item No	Despriction	Qty	Unit	Rate	Amount
	DISMANTLING OF EXISTING ASPHALT CONCRETE ROAD I/E				270 447 54
1	BASE,SUB BASE A DISPOSAL OF DISMANTLED MATERIAL TO	48900	% CFT	773.86	378,417.54
	DESIGNATED PLACE				
	EXCAVATION FOR FOUNDATION OF BUILDING, BRIDGES AND			1	
2	OTHER STRUCTURES INCLUDING DEGBELLING DRESSING, REFILLING	8400	% 0 CFT	3176.25	26,681.00
2	AROUND STRUCTURE WITH EXCAVATED EARTH WATERING AND	0400	70 0 01 1	3170.23	20,001.00
	RAMMING LEAD UPTO 5 FT.	- was then were			
3	CEMENT CONCRETE PLAIN I/C PLACING, COMPACTING, FINISHING	16632	%CFT	12595	2,094,800.40
3	AND CURING ETC.	10032	70CF1	12555	2,034,000.40
	P/F PRE CAST KERB STONE 3750 PSI INDUSTRIAL MADE SIZE 6 INCH				
	THICK* 12 INCHES LONG * 12 INCHES HIGH INCLUDING THE COST				
4	OF CARTAGE, EXCAVATION, FORM WORK FOR HAUNCHING 1450 PSI	47200	RFT	297.01	14,018,872.00
	LEAN CONCRETE,2250 PSI CONCRETE FOR HAUNCHING 1:4 CEMENT		1	1	
	SAND MORTAR.		j.		
	P/F CEMENT PAVING BLOCKS FLOORING HAVING SIZE OF 197 * 197				
	* 60 (MM) OF CITY / QUDDRA / COBBLE SHAPE HAVING STRENGTH		V.	1	
5	B/W 5000 PSI TO 6500 PSI INCLUDING FILLING THE JOINTS WITH	118000	SFT	199.77	23,572,860.00
	HILL SAND AND LAYING IN SPECIFIED MANNER / PATERN AND		- 1		
	DESIGN ETC. COMPLETE.		1		
6	CARTAGE OF ALL MATERIAL LEAD UPTO 10 MILES	48900	%CFT	1200.2	586,898.00
	Total		1		40,678,529.00

Bidder has quoted amount of 15% above on schedule item i.e.= 46,780,308.00

Summary of Bid

S. No.	Description	Bid Amount
-1	BOQ FOR NEW TRAFFIC SIGNALS(28 NO.) IN KARACHI, LARKANA, SUKKUR AND MIRPURKHAS	53.346 (M)
^ 2	BOQ FOR UP-GRADATION OF (19 No.) SIGNALS IN KARACHI	61.037 (M)
3	SCHEDULE RATE / BOQ FOR NEW TRAFFIC INTERSECTION CIVIL WORK AT KARACHI, LARKANA, SUKKUR AND MIRPURKHAS	46.780 (M)
	Total	161.164 (M)

Total Bid Amount = Modified PC1 (A.D.P NO-2246) =

161.164 (Million) 143.22 (Million)

Difference / Exceeded Amount

17.94 (Million)

Bid amount is 12.5% more than the Approved PC-1 Amount

Dals



Government of Sindh Transport & Mass Transit Department

Dated September 25th, 2017

Minutes of Procurement Committee Meeting on Up-Gradation / Installation of Traffic Signals in Karachi, Sukkhur, Mirpurkhas & Larkana Project

A meeting of Procurement Committee for the Up-gradation / Installation of Traffic Signals in Karachi, Sukkhur, Mirpurkhas & Larkana Project (the "Project") was held on Monday, 25th September 2017 at the Committee Room, Abdul Sattar Edhi Line (Formerly Orange Line) PMU Office, Sindh Mass Transit Cell, Government of Sindh under the chairmanship of Director General, SMTC. The meeting was convened to discuss the evaluation of tender documents, submitted and opened on 11th September 2017 from M/S Silicon Communication & Security JV M/S Ghause Builders. The list of participants and attendance sheet copy is attached as Annexure-A.

- 2. The Chair initiated the meeting by welcoming the participants. The Deputy Director [Contracts & Procurement] informed the committee that the tender document from M/S Silicon Communication & Security JV M/S Ghause Builders was subjected to evaluation and no discrepancies were found in the calculations. The Bid Evaluation Report is attached as Annexure B. It was informed to the committee that the Bid Security of PKR 3,267,000/= was submitted along with the tender document as a part of the requirement.
- The committee agreed to proceed with the tendering process and provide M/S
 Silicon Communication & Security JV M/S Ghause Builders, letter of award as a successful contractor for the said project.

The Chair thanked the committee members and the meeting was adjourned.

Qazi Abdul Qadir Senior Director, TEB Muhammad Tahir
DSP Traffic Police (on behalf of DIG
Traffic Police)

Abdul Aziz,
Director Bus Ops & ITS, SMTC

Qasim Dada

Director Finance & Admin, SMTC

Yousuf Munir

Director Infrastructure, SMTC

Kashif Ali Khan Deputy Director, SMTC

Muhammad Athar Director General, SMTC

UP-GRADATION / INSTALLATION OF TRAFFIC SIGNALS IN KARACHI, HYDERABAD, SUKKUR, MIRPURKHAS, NAWABSHAH AND LARKANA

Attendance Sheet (Committee Members)

Dated: 25/9/2017

S.No.	Name	Designation	Department / Company	Contact Number	Email	Signature
1	Abdul Aziz	DARECTORBUS	8mTC		- 4	1/m
2	Mulamed Young Munic	DIRECTOR (INFRA)	SMTC			45-
3	Tahir Khan	DSP (TRAFFIC)	TRAFFIC POLICE			Del 6
4	Qasim Dada	DIR (FGA)	SMITC			
5	Muhammed Athor	DG	SMTC			let
6	Kashif Ali Khan	Deputy Director	SMTC			(1) X DUM
7	Qazi Abdul Qadir	Senior Director	TEB, KDA	0333-2147481		12 =
8						
9						
10						T.
11			L.			
12						
13						
14						



Government of Sindh

Transport & Mass Transit Department

Dated September 11th, 2017

Minutes of Procurement Committee Meeting on Up-Gradation / Installation of Traffic Signals in Karachi, Hyderabad, Sukkhur, Mirpurkhas, Nawabshah & Larkana Project

A meeting of Procurement Committee for the Up-gradation / Installation of Traffic Signals in Karachi, Hyderabad, Sukkhur, Mirpurkhas, Nawabshah & Larkana Project (the "Project") was held on Monday, 11th September 2017 at the Committee Room, Abdul Sattar Edhi Line (Formerly Orange Line) PMU Office, Sindh Mass Transit Cell, Government of Sindh under the chairmanship of Director General, SMTC. The meeting was convened for the opening of Financial Bids of the Project invited from the prequalified contractors, i.e M/S Silicon Communication & Security JV M/S Ghause Builders and M/S Pak German Engineers. The list of participants and attendance sheet copy is attached as [Annexure-A].

- 2. The Chair initiated the meeting by welcoming the participants. The committee was informed that the bid submission deadline was 3:00p.m on 11th September 2017 and that only one bid was submitted from M/S Silicon Communication & Security JV M/S Ghause Builders by the deadline.
- 3. The committee was informed that a letter was received from M/S Pak German Engineers on Friday, 8th September 2017 at 5:30p.m via email communication requesting the extension in the bid submission deadline citing technical reasons of completing the documentation works. The committee was informed that considering the tight timelines and clear mentioning of the prerequisites in the RFQ and Tender documents, it was communicated to the said contractor that the extension cannot be granted.
- 4. The sealed Bid from M/S Silicon Communication & Security J.V M/S Ghause Builders was opened and its total bid cost [PKR 161,164,413/=] was announced before the committee and the bidder. The committee members signed the bid documents. The Bid security of 2% was attached with the bid in the form of pay order.

Deh V

M

6. The Chair directed to form a sub-committee for checking/verifying/evaluating the bid documents and to monitor the execution of the project. The sub-committee will present the results before the procurement committee in the next meeting. The sub-committee includes following members,

S.NO.	DESIGNATION	STATUS
1.	Director Bus Operations & ITS, SMTC, TMTD, GoS	Chair
2.	Superintendent Engineer, Traffic Engineering Bureau, KDA	Member
3.	Director Infrastructure, SMTC, TMTD, GoS	Member
4.	Deputy Director Procurement & Contracts, SMTC, TMTD, GoS.	Member

The Chair thanked the committee members and the meeting was adjourned.

Qazi Abdul Qadir Senior Director, TEB Muhammad Tahir
DSP Traffic Police (on behalf of DIG
Traffic Police)

Abdul Aziz,
Director Bus Ops & ITS, SMTC

Qasim Dada
Director Finance & Admin, SMTC

Yousuf Munir
Director Infrastructure, SMTC

Kashif Ali Khan

Deputy Director, SMTC

Muhammad Athar

Director General, SMTC

0

ATTENDANCE SHEET (Procurement Committee)

Bid opening meeting on 11/09/2017 at 04:00 p.m. in PMU office (SMTC), Transport and Mass Transit Department Near Teen Talwar Clifton, regarding installation/up-grdation of signal workat Karachi, Sukkur, Larkana, Mirpurkhas

S.NO	NAME	DESIGNATION	DEPARTMENT	CONTACT NO.	EMAIL	SIGNATURE	REMARKS
1-	Meshammad Atha	DS SMTA	THID			9	
2	TO THE STATE OF TH		^	03009234345		De 10.	
3-	Abdul Aziz	DSP TOUPLIC DIRECTOR BUS OPS/ITS	SMTC	_	-	1)	
4.	YOUSUF	DIRECTOR (INFRA)			1	45/	
5.	Bazi Abdul Radis	Director	TEB, KDA	0333-2147480		727	
6.	RASSIM DADA	DIMFOR	, SMATC			3/2	
7.	Kash De	D.D. Pocev Gemen	SMC.	0333-2633472	2	Biol	1
	• /						
							2
				*			1
					4		1
						16	
		7.17				134 /	
						1 /	



Bid opening meeting on 11/09/2017 at 04:00 p.m. in PMU office (SMTC), Transport and Mass Transit Department Near Teen Talwar Clifton, regarding installation/up-grdation of signal workat Karachi, Sukkur, Larkana, Mirpurkhas

S.NO	NAME	DESIGNATION	DEPARTMENT	CONTACT NO.	EMAIL	SIGNATURE	REMARKS
	Shakeel Marawa	Granse Builder	Silion Guminian	0300-9221346	To (Shakul.	
	Shakeel Marawa FAISAL SATIAN	Ms	Ghanse Dulder.	030 8203293		1	
					177		
							//.
						/	





Government of Sindh

Transport & Mass Transit Department
Dated July 24th, 2017

Minutes of Procurement Committee Meeting on Up-Gradation / Installation of Traffic Signals in Karachi, Hyderabad, Sukkhur, Mirpurkhas, Nawabshah & Larkana Project

A meeting of Procurement Committee for the Up-gradation / Installation of Traffic Signals in Karachi, Hyderabad, Sukkhur, Mirpurkhas, Nawabshah & Larkana Project (the "Project") was held on Monday, 24th July 2017 at the Committee Room, Abdul Sattar Edhi Line (Formerly Orange Line) PMU Office, Sindh Mass Transit Cell, Government of Sindh under the chairmanship of Director General, SMTC. The meeting was convened to discuss the evaluation of proposals submitted for prequalification. The list of participants and attendance sheet copy is attached as [Annexure-A].

- 2. The Chair initiated the discussion by welcoming the participants. The forum was informed that three prequalification documents were submitted by the following companies;
 - i. M/S Silicon Communication & Security
 - ii. M/S Silicon Communication & Security JV M/S Ghause Builders
 - iii. M/S Pak German Engineers

These prequalification documents were opened and signed by the committee members before the authorized representative of bidders.

- 4. M/s Silicon Communication & Security has submitted the documents as an individual lead firm (i, reflected above) and a lead firm with a joint venture (ii, reflected above). However, the procurement committee decided that a firm can be a lead firm either individually or with a JV but not with both. Hence, the technical proposal from M/s Silicon Communication & Security has been disqualified as an individual lead firm.
- 5. The committee members went through the evaluation of the remaining two technical proposals. Since the prequalification criteria asked for the working experience with SCOOT based UTC controllers / system, M/s Pak German Engineers was held qualified <u>only</u> on the condition that they will submit their <u>authorization certificate</u> from suppliers of SCOOT based system at the bidding stage [Annexure B].

July 0-

My

Junio

in Pohler, S

7

	M/S Silicon Communication & Security JV M/S Ghause Builders	M/S Pak German Engineers
Working Experience	35	25
Financial Status	28	26
Strength of Engineering Establishment	27	24
Total	90	75

7. The procurement committee agreed to issue notice of prequalification to M/s Silicon Communication & Security JV M/S Ghause Builders and M/s Pak German Engineers (subject to the condition of submitting the authorization letter as mentioned above), since the minimum requirement to qualify is 70 score out of 100.

Qazi Abdul Qadir Senior Director, TEB Muhammad Tahir

DSP Traffic Police (on behalf of DIG Senior Chief T&C, P&D
Traffic Police)

Abdul Aziz,

Director Bus Ops & ITS, SMTC

Qasim Dada

Director Finance & Admin, SMTC

Yousuf Munir

Sardar Abdul Nabi Thameem

Director Infrastructure, SMTC

Muhammad Athar Director General, SMTC

P-GRADATION / INSTALLATION OF TRAFFIC SIGNALS IN KARACHI, HYDERABAD, SUKKUR, MIRPURKHAS, NAWABSHAH AND LARKANA

Attendance Sheet

Dated: 24/07/2017

S.No.	Name	Designation	Department / Company	Contact Number	Email	Signature
1	Muhammed Athar.	DG (S47C)				W.
2	Mohamad YOUSUF Mynch					4.7-1
3	DSPTAHIR	DSP on behalf.				Hahli.
4 6	Kashil Ali	DPD Cont/Bocourt	JME.	025-2633475		1 Da
5	8 Abdul Dadir Sr	. Director TEB	TEB, KDA	03332147480		W Z
6	Abdul Aziz	Director	SmTC	_		0/
7	Shumaile c/o Quesim Dede	Ant. Director	PPP Node, SMTC	_		Shine
8	SARDAR ABBUL NABI THAMBEM	Senin Chief (Tz C)	70.			2}
9		, ,	L. Volt			,
10			<u>K</u>			
11						
12						
13			<u>a</u>			
14						



www.pgepakistan.com

- PGE TRAFFIC SYSTEMS
- PGE AUTOMATIONS
- PGE SOLAR & LIGHTING SOLUTIONS

To,

The Director Infrastructure

Sindh Mass Transit Cell

Date: 13-07-17

Reference # PGE/SMTC/713-17

Subject:

Request for Qualification-Up-Gradation / Installation of Traffic Signals in Karachi, Hyderabad,

Sukkhur, Mirpurkhas, Nawabshah and Larkana

Under Taking for UTC SCOOT Based System

Dear Sir,

This is with reference to your letter # SMTC/TMTD/SIGNALS/05a, regarding information / clarification on UTC SCOOTS based system to implemented in the subject project.

We are pleased to inform you that we are the pioneers who installed SCATS based system on first project in Lahore Pakistan on Metro Bus Project and running successfully operation and maintenance period from last four years.

Already we have the authorization of SCATS and if we would be qualified for your good project than we will provide and implement UTC SCOOTS based system for the subject project.

Waiting for your kind response and assuring you our best services for your esteemed organization.

For Pak German Engineers

Abdul Waheed Mubashir

Project Director 0321-4160716

Cc to. 1 Director General Sindh Mass Transit Cell (SMTC), TMTD, GoS

2 P.S to Secretary Transport & Mass Transit Department

3 Office File

Evaluation of PreQualification Documents - UP-GRADATION / INSTALLATION OF TRAFFIC SIGNALS IN KARACHI, HYDERABAD, SUKKUR, MIRPURKHAS, NAWABSHAH AND LARKANA

PART – A (WORKING EXPERIENCE) (35 MARKS)

a) Working Experience	(0-25)	M/S Silicon JV M/s Ghause Builders	M/s Pak German Engineers
i) Allied Traffic Engineering Works Experience Last Continuous 5 years Last Continuous 08 years (Attach PEC Valid License for each year).	5	10	10
ii) Specific Traffic Signal (Scoot based controllers / System) Experience For 2 similar projects within the last eight (8) years Over Rs 50 million. Two marks for each additional 01 similar project	(0-10)	10	0
Current Commitments / Work in Hand 02 projects in hand Deduction of 01 mark for each additional one project	(0 – 5) 05	5	5
b) Tools / Machinery	(0 – 10)		
i)System tool Equipment (as specified below)	5	5	5
ii) E-Prom blowing software	3	3	3
iii) Material stock in hand	2	2	2

MA

Shumi

Vi Vi

of Gehler

PART – B (FINANCIAL STATUS) (35 MARKS)

1)		M/S Silicon JV M/s Ghause Builders	M/s Pak German Engineers
2) Average Net Worth for last 05 years	(0 - 5)		
Rs. 50 Million	03		
One mark addition for each increment of Rs. 12 Million		3	3
One mark deduction for each decrement of Rs. 12 Million			
Average Net Working Capital for last 05	(0 -		
years	05)		
Rs. 25 Million One mark addition for each increment of Rs. 10 Million	3	3	3
One mark Deduction for each decrement of Rs. 5 Million			
Average Annual Construction Turnover	(0 –	Plant Base	HP = LA IP
Rs. 30 Million	15)		
One mark addition for each increment of Rs. 100 Million	12	12	10
One mark Deduction for each decrement of Rs. 100 Million	5.00×.121		
5) Cash Flow Requirement	0 – 10		
(Attach proof of Bank Statement / Credit Facilities / etc.)			
1 th 450/ -511:- 18/- th	0	10	10
 Less than 15% of this Work Upto 25% of the work 	4		
 Upto 25% of the work Upto 50% of the work 	8		
- More than 50% of this work	10		

Shimair Shimair

7

Och lan

PART - C

(STRENGTH OF ENGINEERING ESTABLISHMENT) (30 MARKS)

		M/S Silicon JV M/s Ghause Builders	M/s Pak German Engineers
A. Project Engineer (must be registered with PEC)	10		
i) Project Manager Experience 08 or more years Experience as Project Manager 05 or more years Experience as Project Manager		5	5
ii) Specific experience Should be at least 05 years Less than 05 years		5	5
B. SYSTEM ENGINEER	8		
(Must be registered with PEC)			
i) System Engineer Experience			
08 or more year Experience		5	2
04 or more year Experience			
Less than 04 year experience			
ii) Specific experience			
Should be at least 05 years		0	o
Less than 05 years			
C. SITE ENGINEER (CIVIL)	3		
i) Site Engineer Experience	2	2	2
05 or more year Experience	2	=	
03 or more year Experience	1		
Less than 03 year Experience			

Ammil Dr Shumil

A Dollar

ii. Specific experience Should be at least 03 years Less than' 03 years D. SITE ENGINEER	01 00 2	1	1
(ELECTRONICS) For each (Must be registered with PEC) Site Engineer Experience 05 or more year Experience 03 or more year Experience Less than 03 year Experience	2 2 1 0	2	2
TECHNICIAN (2 Nos) For each i. Experience 08 or more years experience 05 or more years Experience Less than 05 years Experience	04 Marks 4 4 3 0	4	4
i. 05 or more years experience 03 or more years experience Less than 03 years experience	3 2 1 0	2	2
ii) Specific experience Should be at least 03 years Less than 03 years	1 1 0	1	1

My 1 Shining

The state of the s

TRANSPORT AND MASS TRANSIT DEPARTMENT



Off, No.021-99211017 Fax No.021-99211298 E.mail.secretarytransportsindh@gmail.com

NOTIFICATION

NO: SO(G)/T.SIGNALS/2017: Transport and Mass Transit Department, Government of Sindh has undertaken the work of "Installation / Up-gradation of Traffic Signals in Karachi, Sukkur, Mirpurkhas, Larkana, Nawabshah and Hyderabad through Sindh Mass Transit Cell (SMTC).

In this regard, the TMTD, GoS, in compliance with Rule 67 of Sindh Public Procurement Rules, 2010 hereby constitutes the Procurement Committee with the following composition and terms of reference:

S.NO.	DESIGNATION	STATUS
1.	Director General, SMTC, TMTD, GoS.	Chairman
2.	Senior Chief (T&C), Planning and Development Department, GoS.	Member
3	Deputy Inspector General of Traffic Police, Karachi.	Member
4. —	Mr. Abdul Qadir, Senior Director, Traffic Engineering Bureau.	Member
5.	Director Infrastructure, SMTC, GoS.	Member
6	Director Bus Operation and ITS, SMTC, TMTD, GoS.	Member
7.	Director Finance and Administration, SMTC, TMTD, GoS.	Member

TERMS OF REFERENCE:

- The Procurement Committee shall approve Request for Qualification (RFQ) document for issuance.
- Short listing of contractor, responding to the RFQ, where applicable, in accordance with the criteria mentioned in RFQ document.
- The Committee shall evaluate prequalification proposals, according to selection method and evaluation criteria, mentioned in the RFQ document and shall approve the issuance of Request for Proposals(RFP) to successful prequalified bidders;

 Finalization of recommendation based on evaluation of RFP as mentioned in (3) above as per SPPRA Guidelines.

> TUAHA AHMED FARUQUI SECRETARY Transport and Mass Transit Department

NO:SO(G)/T.SIGNALS/2017:

Karachi, dated the 19th April, 2017

- 1. Chairman / Member (all of the Committee).
- 2. The PS to Chairman (Planning Board), Government of Sindh, Karachi.
- 3. The PS to Secretary Finance Department, Government of Sindh, Karachi.
- 4. The PS to Secretary, Transport and Mass Transit Department, Government of Sindh/Karachi.
- 5. The PS to Director General, SMTC, Government of Sindh, Karachi,

6. Notification File.

JSECTION OFFICER (G)
J FOR SERETARY TO GOVERNMENT OF SINDH



GOVERNMENT OF SINDH TRANSPORT AND MASS TRANSIT DEPARTMENT

Off. No.021-99211017 Fax N0.021-99211298 E.mail.secretarytransportsindh@gmail.com

NOTIFICATION

NO:SO(G)/T.SIGNALS/2017: Transport and Mass Transit Department (TMTD), Government of Sindh in compliance with Rule 31 of Sindh Public Procurement Rules, 2010 which deals with Mechanism of Redressal of Grievance of firms / bidders and calls for the constitution of Complainant Redressal Committee.

 The TMTD has undertaken the work of "Installation / Up-gradation of Traffic Signals in Karachi, Sukkur, Mirpurkhas, Larkana, Nawabshah and Hyderabad, through Sindh Mass Transit Cell (SMTC).

S.NO.	DESIGNATION	STATUS Chairman	
1.	Secretary, Transport and Mass Transit Department, GoS.		
2.	Senior Chief (T&C), Planning & Development Deptt: GoS.	Member	
3.	A Representative from Accountant General Sindh	Member	
4.	Independent Professional from relevant field, to be nominated by Secretary, Transport and Mass Transit Department, Government of Sindh.	Member	
5.	Chief Consultant, Transport and Mass Transit Department, GoS.	Member	

TERMS OF REFERENCE:

Receive any complaint against the bidding process and / or recommendations of the Procurement Committee, and process / settle the same in accordance with the relevant provisions of Sindh Public Procurement Rules 2010 (Amended 2013).

TUAHA AHMED FARUQUI SECRETARY

Transport and Mass Transit Department

NO:SO(G)/T.SIGNALS/2017;

Karachi, dated the 19th April, 2017

- 1. Chairman / Member (all of the Committee).
- 2. The PS to Chairman (Planning Board), Government of Sindh, Karachi.
- 3. The PS to Secretary Finance Department, Government of Sindh, Karachi.
- 4. The PS to Secretary, Transport and Mass Transit Department, Government of Sindh, Karachi.
- 5. The PS to Accountant General Sindh, Karachi.
- 6. The PS to Director General, SMTC, Government of Sindh, Karachi.
- 7. Notification File.

SECTION OFFICER (G)
FOR SERETARY TO GOVERNMENT OF SINDH

UP-GRADATION / INSTALLATION OF TRAFFIC SIGNALS IN KARACHI, HYDERABAD, SUKKUR, MIRPURKHAS, NAWABSHAH AND LARKANA Attendance Sheet (Bidders)

Dated: 12/5/2017

·TIME

S.No.	Name	Designation	Department / Company	Contact Number	Email	Signature
1	M/s Silian Communications Security	Manager		0300-9221346	manscormonawa Cyahro, a	former
2	M/s Silven Communications Security. Githurse Benitary M's Silveon Communication & Security.	y MIN		0300 1205243	CIMALL . CON	1-1
3	Pak- German Engineers	TCS delievery	R	~		
4	0	0				
5	T .					
6						
7						
8						
9						
10						
11						
12						
13						
14				A mag		

